
Q.1 Select the most appropriate option to fill in the blank.

Rama and his friends meet at their _____ spot for lunch.
Ans A. casual

B. regular

C. atypical

D. standard

Q.2 Select the most appropriate meaning of the underlined idiom.

The new employee was eager to make a good impression, but he bit off more than he
could chew.

Ans A. To eat too much food at once

B. To take on more responsibility than one can handle

C. To speak without thinking

D. To make unrealistic promises to supervisors

Q.3 Identify the option that rectifies the given sentence to make it grammatically correct.

The documentary was both informful and engaging.
Ans A. informational

B. information

C. informant

D. informative

Q.4 Segments of a sentence are given below. While the first segment is in the correct order,
the remaining segments are jumbled up. Arrange them in the correct order to form a
meaningful and coherent and coherent sentence.

1: women have
P: part of history
Q: have been put
R: to discrimination
S: ever since they became

Ans A. PRSQ

B. QRSP

C. QSRP

D. PQSR
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Q.5 Select the option that can be used as a one-word substitute for the underlined group of
words.

We visited the ancient palace yesterday, there we saw old manuscripts written by
saints, we tried but it was not clear enough to be read.

Ans A. Corrigible

B. Illegible

C. Negligible

D. Legible

Q.6 Select the most appropriate option to fill in the blank.

The American astronauts _______________ on Mars for six months by the time they
complete their mission.

Ans A. will be staying

B. will have stayed

C. shall be staying

D. will stay

Q.7 Select the word which means the same as the group of words given below.

A disease affecting a large population across regions.
Ans A. Pandemic

B. Infection

C. Epidemic

D. Endemic

Q.8 Select the option that will correct the prefix of the highlighted word, and thus the
sentence.

The minister was very unlegal in his actions.
Ans A. mislegal

B. dislegal

C. delegal

D. illegal

Q.9 Select the most appropriate meaning of the underlined idiom.

Despite her colleagues' skepticism, Meera stuck to her guns.
Ans A. To continue arguing in a verbal disagreement

B. To maintain a defensive position

C. To keep weapons for protection

D. To remain determined and steadfast

Q.10 Identify the synonym of the word 'well- known' in the following sentence.

An obscure writer remained unnoticed for years, but one of his books was later
discovered by a renowned critic, turning him from an anonymous author into a
celebrated one, though many of his earlier works are still overlooked.

Ans A. anonymous

B. overlooked

C. renowned

D. obscure
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Q.11 Segments of a sentence are given below. While the first segment is in the correct order,
the remaining segments are jumbled up. Arrange them in the correct order to form a
meaningful and coherent and coherent sentence.

(A) the past decade shows that
(B) a study of university
(C) women are increasingly opting for
(D) enrolment figures over
(E) professional courses

Ans A. EBCAD

B. BDACE

C. BCADE

D. BEADC

Q.12 Identify the error in the following sentence and select the option that rectifies it.

She has finished her homework, didn’t she?
Ans A. She has finished her homework, haven’t she?

B. She has finished her homework, hasn’t she?

C. She has finished her homework, doesn’t she?

D. She has finished her homework, don’t she?

Q.13 Select the most appropriate synonym of the underlined word in the given sentence.

The professor’s arcane explanation of quantum physics left most students puzzled.
Ans A. common

B. mysterious

C. simple

D. clear

Q.14 Select the option that expresses the given sentence in active voice.

The decision was made by the committee.
Ans A. The decision was being made by the committee.

B. The committee has made the decision.

C. The committee makes the decision.

D. The committee made the decision.

Q.15 Select the option that expresses the given sentence in passive voice.

Had he informed me about the crisis, I would have helped him financially.
Ans A. He would have been helped financially had I being informed about his crisis.

B. He would have been helped financially had I been informed about his crisis.

C. He would have been helped financially had I been inform about his crisis.

D. He will have been helped financially had I been informed about his crisis.

Q.16 Select the most appropriate synonym of the underlined word in the given sentence.

The novelist's eloquent prose captivated readers, transporting them to another time and
place.

Ans A. Verbose

B. Extraordinary

C. Confounding

D. Articulate
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Q.17 Select the most appropriate option to fill in the blank.

Although he eventually submitted the report, he ___________ the deadline by two days.
Ans A. had missed

B. had been missing

C. was missing

D. missed

Q.18 Parts of a sentence are given below in jumbled order. While the first segment (S1) is in
the correct order, the segments below it are jumbled up. Arrange the parts in the correct
order to form a meaningful sentence.
S1. Although the scientist faced initial scepticism
A. her ground-breaking method for water purification
B. eventually gained recognition at international forums
C. after rigorous trials and peer-reviewed publications
D. for its potential to address global scarcity issues

Ans A. CADB

B. ABCD

C. ACBD

D. ACDB

Q.19 Select the most appropriate option to fill in the blank.

Because the mountain trail was slippery and steep, we advanced _____, testing every
step before proceeding.

Ans A. fearlessly

B. cautiously

C. recklessly

D. anxiously

Q.20 Select the option that will improve the underlined part of the given sentence. In case no
improvement is needed, select ‘No improvement required’.

Nobody has bought an umbrella, have they?
Ans A. has they

B. has she

C. has he

D. No improvement required

Q.21 ' लड़की का लड़का ' वाक्यांश के  लिए सार्थक शब्द कौन सा है ?025
Ans A. नतिनी

B. पौत्री

C. पौत्र

D. नाती

Q.22 'पुत्र' शब्द का पर्यायवाची पहचानें- 1
Ans A. अग्रज

B. अनुज

C. पुत्री

D. तनय
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Q.23 ‘ऊँ ट के  मुँह में जीरा’ लोकोक्ति का अर्थ बताएं -
Ans A. आवश्यकता से बहुत कम मिलना

B. ऊँ ट को जीरा पसंद नहीं

C. ऊँ ट को छोटा समझना

D. ऊँ ट का जीरा खाना

Q.24 'अंगीकार' के  सही विलोम शब्द को चुनिए
Ans A. स्वीकार

B. आविष्कार

C. बहिष्कार

D. शिल्पकार

Q.25 निम्न लोकोक्ति के  अर्थ को बताएं  - 'चमड़ी जाए पर दमड़ी न जाए'5371
Ans A. पास की चीज दिखाई ना देना

B. बहुत कं जूसी

C. स्वार्थी व्यक्ति

D. हर हालत में मेरा ही लाभ

Q.26 ' दोष ' का विलोम शब्द क्या होगा ?
Ans A. अवगुण

B. गुण

C. सगुण

D. निर्गुण

Q.27 निम्नलिखित में से किस शब्द में प्रत्यय का प्रयोग नहीं  हुआ है?2115
Ans A. पढ़नेवाला 

B. मिलनसार

C. लड़ैत

D. निकस 

Q.28 पयोधर शब्द का संधि भेद बताइए।
Ans A. स्वर संधि

B. विसर्ग संधि

C. व्यंजन संधि

D. अयादि संधि

Q.29 निम्न में से किस शब्द में विसर्ग संधि है?
Ans A. महच्छत्र

B. निस्तार

C. देवर्षि

D. नयन

Q.30 निम्नलिखित में से विसर्ग संधि का उदाहरण है-
Ans A. सदैव

B. महेंद्र

C. निर्धन

D. विद्यार्थी
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Q.31 'मछली' का तत्सम शब्द होगा-
Ans A. मत्सर

B. मक्षर

C. मक्षिका

D. मत्स्य

Q.32 किस वाक्य में ‘प्रति’ उपसर्ग का उपयुक्त प्रयोग नहीं  हुआ है- 1494
Ans A. युवाओं में साहित्य के  प्रति आकर्षण बढ़ा है

B. प्रत्यय के  प्रयोग से नए शब्द बनते हैं

C. तुम मेरी प्रतीक्षा मत करना

D. मैंने कोई प्रतिज्ञा नहीं  की है 

Q.33 निम्न में से उस वाक्य का चयन करें  जो 'टेढ़ा' शब्द के  समानार्थी शब्द से निर्मित नहीं  है--3030
Ans A. तुम अपनी कु टिल चालों से एक न एक दिन अवश्य फँ सोगे।

B. शिक्षक ने छात्रों को एक वक्र रेखा खीं चने को कहा।

C. उसके  घर के  पीछे  एक तिरछा मैदान है।

D. तुम्हें किं चित भी भयभीत होने की आवश्यकता नहीं  है।

Q.34 ' तनिक ' का अर्थ है -
Ans A. गुस्सैल

B. थोड़ा

C. ज्यादा

D. तिनका

Q.35 निम्नलिखित लोकोक्ति के  सही अर्थ को बताने वाले विकल्प का चयन करें :
“बंदर क्या जाने अदरक का स्वाद”5708

Ans A. अज्ञानी व्यक्ति किसी उपयोगी चीज़ के  महत्व की समझ नहीं  होन|

B. सांसारिक कड़वे अनुभव से जुड़ी बात का अनुभव होना|

C. अज्ञानी बंदर का स्वभाव हमेशा चंचल होना|

D. बढ़िया स्वाद की परख के वल बुजुर्गों को होना |

Q.36 दिए गए वाक्यों के  किस शब्द में ‘अ’ उपसर्ग का उपयुक्त प्रयोग नहीं  हुआ है- 1493
Ans A. शिशु अबोध होते हैं

B. मुझसे अध्यात्म की बात मत करो

C. चारो ओर अधर्म फै ल है

D. वह नाव समुद्र में अदृश्य हो गई

Q.37 रेखांकित वाक्य खंड को शुद्ध कीजिए।
पहाड़ में धीरे -धीरे  काले बादल छाने लगे।

Ans A. तारों

B. धरती

C. आसमान

D. सूर्य

Q.38 'ख़ाक में मिलाना' मुहावरे  का अर्थ होगा-
Ans A. नष्ट करना

B. चिन्हित करना

C. धोखा देना

D. षड़यंत्र करना
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Q.39 निम्न में से उस वाक्य का चयन करें  जो 'संकु चित' के  समानार्थी शब्द से निर्मित नहीं  है--3029
Ans A. स्कू ल तक पहुँचने का मार्ग बहुत सँकरा है।

B. तंग गलियों से गुज़र कर वह खुले मैदान में पहुँचा।

C. संकीर्ण मानसिकता वाले समाज के  विकास में अवरोधक हैं।

D. अकिं चन सुदामा श्रीकृ ष्ण के  घनिष्ठ मित्र थे।

Q.40 निम्नलिखित मुहावरे  के  सही अर्थ को बताने वाले विकल्प का चयन करें :
“राई का पहाड़ बनाना”

Ans A. समस्या को हल करना

B. पर्वतारोहण करना

C. महत्वहीन बनाना

D. छोटी बात को बढ़ा-चढ़ाकर कहना

Q.41 निम्नलिखित विकल्पों में से 'प्रामाणिक' के  लिए शुद्ध उपसर्ग है-
Ans A. प्+मान+एक

B. प्र+मान+इक

C. परा+मन+इक

D. प्र+मानक+इक

Q.42 'दुग्ध' का तद्भव शब्द होगा-89
Ans A. दूग्ध

B. पतला

C. दू ध

D. दुधिया

Q.43 निम्नलिखित में से कौन सा एक विकल्प कर्त्तवाचक प्रत्यय-‘वाला’ से सम्बंधित नहीं  है?
Ans A. पकौड़ीवाला

B. चाटवाला

C. पानवाला

D. आढ़तिया

Q.44 निम्नलिखित में से कौन सा शब्द तद्भव है ?
Ans A. भीख

B. वानर

C. वचन

D. बंधन

Q.45 रेखांकित वाक्य खंड को शुद्ध कीजिए।
संध्या हुई, ही जानवरों  चहकना बंद हो गया।

Ans A. और पक्षियों का

B. या पक्षियों का

C. किन्तु पक्षियों का

D. लेकिन पक्षियों का

Q.46 ‘जो मेघ के  सामान गरजता हो’ के  लिए उपयुक्त शब्द चुनें-5013
Ans A. मेघदू त

B. मेघनाद

C. मेधावी

D. मायावी
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Q.47 निम्न विकल्पों में से कौन-सा शब्द 'मुख्य' का विलोम है - 5487
Ans A. गौण

B. खास

C. प्रमुख

D. प्रधान

Q.48 'विभावरी' के  लिए निम्नलिखित में से कौन-सा पर्यायवाची सही है?3
Ans A. वामा

B. यामिनी

C. हरिप्रिया

D. रजनीचर

Q.49 ' अँधेरी रातों  वाला पखवारा ' वाक्यांश के  लिए सार्थक शब्द कौन सा है ?5026
Ans A. अमावस्या

B. शुक्लपक्ष

C. कृ ष्णपक्ष

D. पूर्णिमा

Q.50 निम्नलिखित वाक्य को ध्यानपूर्वक पढ़ें और वाक्य खंड को शुद्ध करें।
सूर्यास्त हो रहा है चलो देहरी पर दिए फें क दो।

Ans A. सूर्यास्त हो रहा है चलो देहरी पर दिए लटका दो।

B. सूर्यास्त हो रहा है चलो देहरी पर दिए मत जला लो।

C. सूर्यास्त हो रहा है चलो देहरी पर दिए उगाओ।

D. सूर्यास्त हो रहा है चलो देहरी पर दिए जला दो।

Q.51 Arun is 25% more efficient than Bobby. How much time will they, working together, take
to complete a job which Arun alone could have done in 15 days?

Ans
A. 

B. 

C. 

D. 

Q.52 The average price of three items of furniture is ₹17,415. If their prices are in the ratio 3 :
5 : 7, the price of the cheapest item (in ₹) is:

Ans A. ₹5,805

B. ₹10,449

C. ₹8,127

D. ₹3,483

Q.53 A goods carrier reached KPHB from Uppal in 50 min at an average speed of 60 km/hr. If
the average speed is increased by 90 km/hr, how long will it take to cover the same
distance?

Ans A. 24 min

B. 18 min

C. 15 min

D. 20 min
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Q.54 Simplify.

Ans A. a−7 × b−1 × c2

B. a4 × b2 × c7

C. a−10 × b17 × c−3

D. a4 × b−3 × c1

Q.55 Which of the following best defines electronic mail (e-mail)?
Ans A. A tool used only for video conferencing

B. A system for sending and receiving digital messages over the internet

C. A device used for storing contact addresses

D. A method of sending handwritten letters through a courier service

Q.56 Based on the English alphabetical order, three of the following four letter-clusters are
alike in a certain way and thus form a group. Which letter-cluster DOES NOT belong to
that group?
(Note: The odd one out is not based on the number of consonants/vowels or their
position in the letter-cluster.)

Ans A. IJMN

B. CDGH

C. NORS

D. DFHJ

Q.57 Kavita starts from Point A and drives 7 km towards east. She then takes a left turn and
drives 12 km. She takes a final left turn; drives 10 km and stops at Point P. If a pole is
located 12 km south of Point P, how far and in which direction would the pole be from
Kavita’s starting point?
(All the turns are 90° turns only, unless specified.)

Ans A. 7 km, east

B. 7 km, south

C. 10 km, west

D. 3 km, west

Q.58 In MS Word, which option allows you to change the appearance of the selected text to
slanted letters?

Ans A. Strikethrough

B. Italic

C. Bold

D. Underline

Q.59 Find the two consecutive odd numbers whose product is 575?
Ans A. 23 and 25

B. 33 and 35

C. 25 and 27

D. 35 and 37

Q.60 The Government appointed which former Finance and Economic Affairs Secretary as
chairman of the Insurance Regulatory and Development Authority of India (IRDAI) in
July 2025 for a three-year term?

Ans A. Ajay Seth

B. Ajay Bhushan Pandey

C. Tuhin Kanta Pandey

D. TV Somanathan
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Q.61 What will come in place of the question mark (?) in the following equation if ‘+’ and ‘−’
are interchanged and ‘×’ and ‘÷’ are interchanged?

42 × 6 − 16 ÷ 4 + 21 = ?
Ans A. 42

B. 64

C. 68

D. 50

Q.62 Which of the given letter-number clusters will replace the question mark (?) in the
following series to make it logically complete?

PPG NMH LJI JGJ ?
Ans A. HCJ

B. IDK

C. ICJ

D. HDK

Q.63 The melting of Arctic permafrost is particularly concerning because it mainly releases
_____________.

Ans A. ozone and carbon dioxide

B. nitrogen and carbon dioxide

C. sulphur dioxide and ozone

D. methane and carbon dioxide

Q.64 Which of the following formulas correctly returns the average of only those numbers in
cells A1:A10 that are greater than 50?

Ans A. =AVERAGEIF(A1:A10,">50")

B. =AVERAGEIFS(A1:A10, A1:A10, ">50")

C. =IF(A1:A10>50,AVERAGE(A1:A10))

D. =AVERAGE(A1:A10>50)

Q.65 In August 2025, India received the final batch of the 16 Airbus C-295 military transport
aircraft from which country, marking a significant upgrade to its defence capabilities?

Ans A. Spain

B. France

C. Russia

D. Israel

Q.66 Select the pair that follows the same pattern as that followed by the two pairs given
below. Both pairs follow the same pattern.

WTU−XUV
QNO−ROP

Ans A. TPP−TQR

B. TQR−URS

C. TQR−TRR

D. TPP−URS

Q.67 Seven students, E, F, G, H, I, L and M, are sitting around a circular table, facing the
centre of the table. E sits second to the left of L. F sits to the immediate left of M. H sits
to the immediate left of E. I sits third to the left of M. Who sits third to the right of G?

Ans A. I

B. E

C. F

D. L
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Q.68 Which of the following correctly matches the abbreviation with its meaning?
Ans A. ASCII – Local Area Network

B. CD – Compact Disc

C. ASCII – Computer Data

D. LAN – Compact Disc

Q.69 If ‘P’ stands for ‘×’, ‘Q’ stands for ‘÷’, ‘R’ stands for ‘−’ and ‘S’ stands for ‘+’, then what
will come in place of the question mark (?) in the following equation?

6 Q 2 S 14 P 3 R 9 Q 3 = ?
Ans A. 48

B. 42

C. 58

D. 45

Q.70 Which Article of the Indian Constitution mentions about the Separation of Judiciary
from Executive?

Ans A. Article 50

B. Article 45

C. Article 47

D. Article 51

Q.71 Which of the following neighbouring countries does NOT share its land boundary with
India?

Ans A. Bhutan

B. Myanmar

C. Afghanistan

D. Maldives

Q.72 The position(s) of how many letters will remain unchanged if each of the letter in the
word DISPELS is arranged in the English alphabetical order?

Ans A. Two

B. One

C. Four

D. Three

Q.73 Which option in MS PowerPoint allows the user to print multiple slides on one page?
Ans A. File → Print → Handouts

B. File → Print → All Slides

C. File → Print → Full Page Slides

D. File → Save As → PDF

Q.74 If ‘P’ stands for ‘×’, ‘Q’ stands for ‘÷’, ‘R’ stands for ‘−’ and ‘S’ stands for ‘+’, then what
will come in place of the question mark (?) in the following equation?

12 Q 4 S 13 P 2 R 11 = ?
Ans A. 24

B. 12

C. 18

D. 28
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Q.75 Which of the following pairs is INCORRECTLY matched?
Ans A. Article 239AA : Special provisions with respect to Delhi

B. Article 240 : Power of President to make regulations for certain Union Territories

C. Article 241 : Governor for Union Territories

D. Article 239 : Administration of Union Territories

Q.76 Which of the following is NOT considered an Internet service?
Ans A. Voice over Internet Protocol (VoIP)

B. File Transfer Protocol (FTP)

C. Spreadsheet Calculation

D. Domain Name System (DNS)

Q.77 Who among the following founded the Ramakrishna Mission in 1897 to spread the
teachings of his guru?

Ans A. Swami Vivekananda

B. Raja Ram Mohan Roy

C. Ishwar Chandra Vidyasagar

D. Swami Dayanand Saraswati

Q.78 In MS Word, ______ is the keyboard shortcut key used to open the Help window.
Ans A. F7

B. F5

C. F12

D. F1

Q.79 In a certain code language, ‘HAME’ is coded as ‘1032’ and ‘EXAM’ is coded as ‘3204’.
What is the code for ‘X’ in the given code language?

Ans A. 0

B. 2

C. 3

D. 4

Q.80 Who was the first Indian to win an Olympic gold medal in an individual event?
Ans A. PT Usha

B. Abhinav Bindra

C. Leander Paes

D. KD Jadhav

Q.81 Which of the following journals was started by PC Mahalanobis?
Ans A. Statistics

B. Sankhiki

C. Number

D. Sankhya

Q.82 In MS Excel, which option would be used if the user wants to save the current workbook
with a different file name or format?

Ans A. Save Copy

B. Save

C. Save As

D. Export
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Q.83 If A : B = 3 : 4 and B : C = 5 : 7, then find the value of (A2 : C2).
Ans A. 148 : 299

B. 10 : 13

C. 225 : 784

D. 83 : 99

Q.84 What has made India a popular destination for outsourcing services in the post-reform
period?

Ans A. Strict government regulations on outsourcing

B. Low wage rates and availability of skilled manpower

C. High wage rates and lack of skilled labour

D. Lack of modern telecommunications infrastructure

Q.85 If the volume of cube is 42,875 m3, then find the lateral surface area of cube in m2.
Ans A. 7350

B. 4907

C. 4897

D. 4900

Q.86 According to the Defence Acquisition Council (DAC) decision in July 2024, how many
interceptor boats is the Indian Coast Guard planning to procure?

Ans A. 10

B. 15

C. 25

D. 22

Q.87 Which of the following is an example of an output device?
Ans A. Keyboard

B. Speaker

C. Webcam

D. Joystick

Q.88 In Windows operating systems, which feature allows a user to keep the system to a
previous state without affecting personal files?

Ans A. Disk Cleanup

B. System Restore

C. System Refresh

D. Safe Mode

Q.89 ​The culture of Arunachal Pradesh shares affinities with indigenous communities in
which of these neighbouring countries?

Ans A. Bangladesh

B. Sri Lanka

C. China

D. Nepal

Q.90 HJNI is related to OQUP in a certain way based on the English alphabetical order. In the
same way, JLPK is related to QSWR. To which of the following is LNRM related,
following the same logic?

Ans A. SUTY

B. USYT

C. SUYT

D. USTY
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Q.91 Find the single discount equivalent to two successive discounts of 24% and 16%.
Ans A. 39.42%

B. 30.23%

C. 36.16%

D. 32.18%

Q.92 The position(s) of how many letters will remain unchanged if each letter in the word
THERAPY is arranged in the English alphabetical order?

Ans A. 2

B. 3

C. 1

D. 0

Q.93 The Executive Powers of the President of India are actually exercised by the _____.
Ans A. Vice President

B. Council of Ministers headed by the Prime Minister

C. Cabinet Secretary

D. President

Q.94 The NISAR satellite, launched by ISRO in July 2025, has been developed to map global
landmasses, ice-covered terrains, islands, sea ice and selected ocean regions once
every __________.

Ans A. 10 days

B. 12 days

C. 07 days

D. 15 days

Q.95 Refer to the following letter, number and symbol series and answer the question that
follows. Counting to be done from left to right only.

(Left) N R & 1 B C Q ! J 5 $ 7 S 3 # K 9 (Right)

How many such letters are there which are immediately preceded by a symbol and also
immediately followed by a number?

Ans A. Three

B. Two

C. One

D. Four

Q.96 In which year was the Indian National Congress founded?
Ans A. 1885

B. 1905

C. 1875

D. 1895

Q.97 Anupma invests a sum of money in a financial institution which claims that it will return
six times of the principal at 25% yearly rate of simple interest in ‘t’ years. What is the
value of t?

Ans A. 18

B. 14

C. 16

D. 20
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Q.98 The simplified value of 18 × ( 17 × ( 42)) ÷ 15 + 99 − 35 is:
Ans

A. 

B. 

C. 

D. 

Q.99 Seven boxes A, B, C, D, E, F and G are kept one over the other but not necessarily in the
same order.
Only two boxes are kept between D and E. Only F is kept above C. No box is kept below
E. G is kept at some place below A but at some place above B.
How many boxes are kept below B?

Ans A. 2

B. 1

C. 4

D. 3

Q.100 In a certain code language, 'mask theme gate' is coded as 'gy bx he' and 'queen mask
sip' is coded as 'bx kr lk'. How is 'mask' coded in the given code language?

Ans A. kr

B. gy

C. he

D. bx
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